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•••• Ñi;k t k¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 15 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 15 questions. 
•••• iz'u-i= e sa nkfgu s gkFk dh vksj fn;s x;s dksM u Ec jdksM u Ec jdksM u Ec jdksM u Ec j     rFkk     lsVlsVlsVlsV     dks Nk= mÙkj-iqfLrdk ds e q[;-i`"B ij fy[ksaA 
 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrd k ds chp  esa [kkyh iUu k / iUus u N ksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy [ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 
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lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %         

General Instruction :  

 (i) bl iz'u-i= esa dqy  15 iz'u gSa ftUgsa rhurhurhurhu  Hkkxksa % ^v*]  ^ c* ^v*]  ^ c* ^v*]  ^ c* ^v*]  ^ c* rFkk    ^l*^l*^l*^l*     e sa ck¡Vk x;k gSA  

  This question-paper consist of 15 questions which divided into three Parts : 

'A', 'B' & 'C'.  

    (ii) lHk h iz'u vfuok; Z gSaA lHk h iz'u vfuok; Z gSaA lHk h iz'u vfuok; Z gSaA lHk h iz'u vfuok; Z gSaA lQðkbZ dk fo'ks"k /;ku jf[k,A 

  All questions are compulsory. Be very careful about cleanliness. 

 (iii) Hkkx & vHkkx & vHkkx & vHkkx & v ds iz'u la[;k 1 ls 10 rd izR;sd iz'u 1 vad dk gSA 

  Question Nos. 1 to 10 of Part – A carry 1 mark each. 

 (iv) ijh{kkFkhZ Hkkx & vHkkx & vHkkx & vHkkx & v  d s lHkhlHkhlHkhlHkh cgqfodYih; iz'uksa d s mÙkj isu }kjk mÙkj-iqfLrdk esa fy [ksaxsA ,sls mÙkj 
ftUgsa d kVk ;k cny k x;k gS] fujLr d j fn;s t k;saxsA 

  All multiple choice questions of Part – A must be answered with pen by 

candidates in the answer-book. Such answers which are changed or cuttings 

have been done, shall be treated as cancelled. 

 (v) Hkkx & Hkkx & Hkkx & Hkkx & cccc ds iz'u la[;k 11 ls 13 rd  izR;sd iz'u 5 vadksa dk gSA iz'u la[;k 14 fi.M 
T;kfe fr ls] 10 vadksa d k gSA 

  Question Nos. 11 to 13 of Part – B carry 5 marks each. Question No. 14 is 

from Solid Geometry carries 10 marks. 

 (vi) iz'u la[;k 14 ¼fi.M T;kfe fr½ esa vkUrfjd NwV miyC /k gSA bu esa ls vkidks dsoydsoydsoydsoy     ,d,d,d,d gh iz'u 
dju k gSA 

  Internal choice is available in question number 14 (Solid Geometry). You have 

to attempt only one of the given choice.  

 (vii) e kWM y dh 'khV ¼Hkk x¼Hkk x¼Hkk x¼Hkk x – llll ½½½½ ij viu k lhV ua0  vo'; fyf[k,A iz'u la[;k 15 e kWM y Mªkba xe kWM y Mªkba xe kWM y Mªkba xe kWM y Mªkba x  d s 25 
vad gSaA 

  Write down your Seat No. on sheet (Part – C). Question No. 15 Model 

Drawing carries 25 marks. 
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Hkk x & vHkk x & vHkk x & vHkk x & v     

PART – A 

¼c gqfod Yih;  iz 'u½¼c gqfod Yih;  iz 'u½¼c gqfod Yih;  iz 'u½¼c gqfod Yih;  iz 'u½     

(Multiple Choice Questions) 

1. ;fn ledks.k f=Hkqt dk ,d d ks.k 40° dk gks] rks vU; dks.k gksxk % 1 

(A) 60°  (B) 90° 

(C) 50°  (D) 120° 

If one angle of a right-angle triangle is 40°, then other angle will be :  

(A) 60°  (B) 90° 

(C) 50°  (D) 120° 

2. ,d lekukU rj prqHkqZt vkSj ,d vk;r e sa D;k lekurk ug haug haug haug ha     gS \  1 

(A) foijhr Hkqtk,¡ ,d-nwljs ds le kukUrj gksrh gSa   

(B) cjkcj fod.kZ gksrs gSa 

(C) foijhr dks.k cjkcj gksrs gSa   

(D) foijhr Hkqtk,¡ cjkcj gksrh gSa 

What is not common in parallelogram and a rectangle ? 

(A) Opposite sides parallel to each other  

(B) Equal diagonals   

(C) Equal opposite angles  

(D) Equal opposite sides 
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3. ;fn p rqHkqZt  ds pkj d ks.kksa dk vu qikr 1 : 3 : 5 : 7 gks] rks lcls NksVk d ks.k gksxk % 1 

(A) °
2

1
82  (B) °

2

1
67  

(C) °
2

1
22  (D) °

2

1
7  

If the ratio of four angles of quadrilateral is 1 : 3 : 5 : 7 then smallest angle is : 

(A) °
2

1
82  (B) °

2

1
67  

(C) °
2

1
22  (D) °

2

1
7  

4. ,d p ki gksrk gS % 1 

(A) o`Ùk dh ifjf/k dk Hkkx (B) o`Ùk ds {ks= d k Hkkx 

(C) o`Ùk ds [k.M dk Hkkx (D) o`Ùk ds v/kZO;kl d k Hkkx 

An arc is a part of the : 

(A) Circumference of the circle  (B) Area of the circle   

(C) Segment of the circle  (D) Radius of the circle  

5. ,d gh dsU nz ls vyx-vyx f=T;k ds o`Ùk [khaps t k,¡] rks os d gy k,¡xs %  1 

(A) v/ kZo`Ùk (B) mRdsU nzh; o`Ùk 

(C) o`Ùk [k.M (D) ,d dsUnzh; o`Ùk 

The circle of different radii with same center are called : 

(A) Semicircle  (B) Eccentric circles  

(C) Sector  (D) Concentric circles 
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6. ;fn f=Hkqt  ds dks.kksa dk vu qikr 3 : 4 : 5 gks] rks dks.k cu saxs % 1 

(A) 30°, 60°, 90°  

(B) 45°, 60°,75° 

(C) 40°, 60°, 80°  

(D) 35°, 55°, 90° 

If the ratio of angles of a triangle is 3 : 4 : 5, then the angles will be : 

(A) 30°, 60°, 90°  

(B) 45°, 60°,75° 

(C) 40°, 60°, 80°  

(D) 35°, 55°, 90° 

7. vf/kd dks.k % 1 

(A) ;g ledks.k ls cM +k gksrk gSA  

(B) ;g ledks.k ls NksVk gksrk gSA 

(C) ;g ledks.k ds leku gksrk gSA  

(D) ;g U ;wu dks.k gksrk gSA 

Obtuse angle : 

(A) It is bigger than a right angle.  

(B) It is smaller than a right angle. 

(C) It is equal to a right angle.  

(D) It is an acute angle. 



 ( 6 ) 5516/(Set : B) 

5516/(Set : B) 

8. ,d fcU nq ds pkjksa vksj cus dks.kksa dk ;ksx gksrk gS % 1 

(A) 60°  (B) 120° 

(C) 180°  (D) 360° 

The sum of all angles around a point is equal to : 

(A) 60°  (B) 120° 

(C) 180°  (D) 360° 

9. oØ js[kk fdls dgrs gSa \ 1 

(A) yEc js[kk dks  

(B) frjN h js[kk dks 

(C) ljy js[kk d ks  

(D) tks dgha Hkh lh/kh u gks 

What is called curved line ? 

(A) Perpendicular Line  

(B) Inclined Line 

(C) Straight Line  

(D) Which is nowhere straight 

10. ,d ry ij fLFkr ,d fcUnq ls fd ru h js[kk,¡ [khaph tk ldrh gSa \ 1 

(A) 5  (B) vla[; 

(C) 21  (D) 9 

How many lines can be drawn through a given point on a plane ? 

(A) 5  (B) Uncountable 

(C) 21  (D) 9  
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Hkkx & cHkkx & cHkkx & cHkkx & c     

PART – B 

¼T; kfefr  o fi.M T;kfe fr ½¼T; kfefr  o fi.M T;kfe fr ½¼T; kfefr  o fi.M T;kfe fr ½¼T; kfefr  o fi.M T;kfe fr ½    

(Geometry & Solid Geometry) 

11. AB vk/kkj ij ,d le f}ckgq f=Hkqt ABC cukb,] ftldh Å¡pkbZ h nh xbZ gSA 5 

Construct an Isosceles triangle ABC, base AB and altitude h being given.  

12. ,d vk;r cu kb,]  t cfd  fod .kZ AC vkSj ,d Hkqtk b nh xbZ gSA  5 

Construct a Rectangle, the diagonal AC and one side b is given. 

13. fn, x, dks.k BAC dks 1 : 3 ds vuqikr esa ck¡fV,A 5 

Divide a given angle BAC into a ratio of 1 : 3. 

14. "kV~Hkqt  ?ku{ks= tks viu s vk/ kkj 3 lseh ij H.P. ij fLFkj [kM +k gS]  dk lkeu s vkSj Åij dk n`'; 

cukb, t cfd vk/kkj dh nks Hkqt k,¡ XY d s lekukU rj gksa] Å¡p kbZ 8 lse h nh xbZ gSA 10 

Draw the plan and elevation of a Hexagonal Prism 3 cm edge, 8 cm height, 

which stands on its base with two of its edges parallel to XY.  

vFkokvFkokvFkokvFkok     

OR 

 oxkZdkj ?ku{ks= dk lkeu s d k n`'; cukb,] tcfd ?ku{ks= f{kfrt /kjkry (H.P.) ij [kM +k gS]  o xZ dh 

Hkqt k yEc /kjkry  d s lekukU rj gS] oxZ dh Hkqtk = 5 lseh] Å¡p kbZ = 8 lse h gSA   

Draw the plan of elevation of a square prism which stands vertically on H.P. 

with two of its vertical faces parallel to V.P., Side = 5 cm, Height = 8 cm. 
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Hkkx & Hkkx & Hkkx & Hkkx & llll     

PART – C 

¼ekWMy M ªkbax½¼ekWMy M ªkbax½¼ekWMy M ªkbax½¼ekWMy M ªkbax½     

(Model Drawing) 

15. vkids lke us ßtwrs ds fM Ccs ij dk¡p  d k fxy klÞ j[kk gSA viu h lhV ls t Slk vkidks fn[kkbZ ns] oSlk 

gh M ªkbax 'khV ij cu kd j fdlh Hkh e k/;e ls izd k'k o N k;k fn[kk,¡]  ekWMy cukrs le ; vuqikr- 

le ku qikr] n`f"V-Øe dk fo'ks"k /;ku j[ksaA fdlh Hkh n'kk e sa QqV~Vs o ijdkj dk iz;ksx u d jsaA 25 

"Glass on a shoe box" is placed before you. Draw a model on your drawing 

sheet from your seat as you see the object. Show lights and shades from any 

medium while drawing model ratio-proportional, perspective view must be kept 

in the attention. Compass and Scale should not be used. 

S 

 


